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& PART-B (Descriptive)
Duration: 2 hrs. 40 mins. Marks: 50
I. Write a short note on any seven questions: 7x2=14
& a) Substance abuse.
b) What is rehabilitation?
¢) What is child labour?
d) What is child marriage?
L e) Difference between HIV & AIDS.
f) Human trafficking.
g) What is intervention?
h) Explain the various types of substance abuse.
/\II. Answer any four short answer questions 4x4=16

a) What is the difference between substance abuse and dependency?
b) What is the link between drug addiction & HIV?
c) How HIV is a developmental issue?

d) Explain the preventive aspect of drug addiction.
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I. Choose the correct answers: 1x20=20

1. Child marriage is observed for both boys & girls. True/false

NS

. Human trafficking is a modern form of slavery. True/False

3. ILO means
a) International labour organization b) Indian law organization
c) International lawyer organization d) Indian labour organization

4. Both human trafficking & smugglings are same. True/false

(9]

. Child labour(prohibition & regulation ) act was passed in the year
a) 1986 b) 1988
c) 1989 d) 1990

6. Child marriage restraint act was passed
a) 1929 b) 1921
c) 1980 d) 1966

~

. The first case of HIV infection was reported in the year
a) 1981 b) 1982
c) 1999 d) 1994

8. The first case of HIV infection was reported in India in the year
a) 1986 b) 1988
c) 1998 d) 1996




9. Alcohol is a stimulant. True/false
10. HIV can be transmitted from mother to child. True/false
11. Substance abuse and dependency are same in nature. True/false
12. Rehabilitation is the only solution for addiction. True/false

13. The symptom of dependency is

a) Tolerance b) Legal problem

¢) Social problem d) High daily consumption
14. The symptoms of abuse is

a) Withdrawal symptoms b) Social & legal problem
= c¢) State of panic d) Veins in arms & legs

15. Child (child labour act 1986) means a person below the age of

a) 14 years b) 18 year
“T* ¢) 16 years d) 13 years
16. The first case of HIV is identified in India
a) Chennai b) Delhi
c) Bombay d) Chandigarh
. /. Opium is a depressant. True/false
18. HIV is the result of AIDS. True/false
1Q. Child marriage means marriage below the age of
' a)18-20 b) 18-21
c) 17-21 d) 16-18
20. HIV/AIDS is a communicable disease. True/false
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